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Q i 1

© 1l 2-Christoffel it SIS

@ 1115 3-Poisson $E 5N fmi#FAR (Questionl7.1)

JiaqiCao (SWJITU) LAUNT 2022 4 11 A 12 H 2/11



KIUE: we AUR(V) & w(vr,--- o) =0, %4 vy = vip1,i=1,--- k=1 K
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Proof: “==" 3 we AWK(V), WRAA: wu, -, u) =0, %
V; = Viy1,0=1,---  k— 1 Hi}.
S YRR S(K) XM (i i+ 1) R, HL:

’U](’Ul,"' > Uiy Vi1, 7 - ,’l]k) = UJ(Ul,"' y Vit1, Vg, - - 77)]6) (1)

R, XTAERR v = v, i# 4,37 € S(k), s.t.

T(’Ula”' P PN PR ,Uk):(vl,"' y Uiy Vi1, "7 ,Uk) (2)

XH, v =1 =1y

’I,U(Ul, s 7’019) = SZg’fL(T) ’ ’I,Ul(’l)l, Ty U Uity ’Uk) =0 (3)
swe Al(V) (4)
O
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)81 2-Christoffel i0-5-Hy#ES

[Aj@ 2-Christoffel 125115 (Questionl7.7)

SKiE: Tk = 1k dgy | 99 _ 0Ogy
Rik: T = 39" (55 + 37 — o)
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A NIER R 5
aikl] = Thgy + Dhgi (5)
FATRHHEIR 4,4,k HATHRAR, WA
8 .
Bg;f = Thigi + Thig1 (6)
O
% = T} + Tlign (7)
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TERE T =5, 95 = 950(5)+(6)-(7) A

1 .0g; Ogjr  Ogki
Lo 1095 gk Ogk 8
Pagn =550 T 50 ~ 0w (8)

TEZEAHTIAIR] e g, A -

0
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[A] @ 3-Poisson 55 1Y JmipaRik =

)i 3-Poisson F5-5F) R iA 2 Question17.1)

ESTR
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BA1A:

N[ Ob Of Of
- ZZ (a 0x; ﬁxk +ai bkaxkal“i (12)

B m m 8b1€ 8f m.m 82f
5 (S ot 5 ()
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HIT X MY B ss, T4
(X, YIf = XY(f) = YX()

B m m 8bk (‘3f m m 82f

=1 \i=1 k=1
m m m
3% O*f (13)
-2 Z B axk =22 (g o)
k=1 j=1 k=1 j=1
NS NS D) OF
- Z(Z i O Z b ox )5%
k=1 =1 ]:1
N by X~ day, O
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The End,Thank You!
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